LABJNDuS triangle lightnesst*
t* Ync_YW nc_loox

t* L ABINDUS =IN[(A 17+ ARY)V(A 20Aon)] (Yad L00<Y<=Y )
t*,(3,6)=218 t* ,(18)=496 t*\(90)=772

log[t*/t* ,]=0, m;=0,33
L* =49, t* ,=49¢
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V=9

Iog(AY) LABJINDu8
AY tristimulus value difference
Yac=Yw - nc=100,
L aBINDus=[INI(A 1n+A2)I/(A 2nA0n)] (Yao/100<Y<=Y,0)
dY=Agn(A1ntAzY)  Ay=0,017, A,=0,0058
Aonpes=L.5, Apn a=1,0, see CIE 230:2019
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_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,

L aBINDus=IIN[(A 1n+A2)I(A 2nA0n)] (Yo 100<Y<=Y,0)
AYIY=AG A1 +AZYYY

Iog(dY/YE=2,13 m,=- vy, .?5%23155
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t*,=496 dY =0,13 dY,/Y,=0,00721
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log (Y/AY)
C,=(Y/AY)

LABJINDu8

tristimulus value contrast
Yac=Yw - nc=100,

L aBINDUs=[IN[(A 1n+A2)I/(A 2nA0n)] (Yae/100<Y<=Y,0)
YIAY=Y/[Agn(A1ntA2RY)]

*,=496 dY,=0,13 Yu/d _—

P application
0 range
1Y,=18
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LABJINDuS relative triangle lightnesst*/t*,,
t/t* u Ync‘YW nc_loox

t* L asanDus=INIA 17+ AsI(A 20A 0] (Yad/100<Y<=Y, )
t*(3,6)=218 1* ,(18)=496 t*,/(90)=772

log (A YIAY,)
AYIAY,

LABJNDuS relative

tristimulus value difference

Yoc=Yw - nc=100,

t*Laganpug =[IN[A 1n+A2nV)I/(A 20A0n)] (Yno/100<Y<=Y,0)
AY/dY,=AgnA 11+AanYI/dY,

application’
1 range
1Y,=18

Yy=90

log [(AY/Y) I (AYIY)] LABJINDUS relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,

t*LaBINDus =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
@YIYYAYY,=(AgAg Y)Y AYIYY]
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log [(Y/AY) I (YIAY),] LABJINDUuS relative
CICy=(YIAY)(YIAY), '{I(S[In;l.\j\l/us vaIEe contrast

=100,

t*LaBINDug =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
(VY Y(YIAY) =Y IYIAY )T oA g Agr V) (Y/AY),

log[(Y/dYY(Y/dY)]=0, m;=0.18
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